Prob. 17-3, Rose & Hudgins, 8th ed., p.582
Liquidity

1.  CR = CA/CL = 333/215 = 1.549
2.  QR or AT = (CA-Inv)/CL = 205/215 = 0.953

3. NWC = CA - CL = 333 - 215 = 118
Activity/Efficiency

1.  Cash Velocity (Turnover) = Sales/(Cash + MS) = 650/50 = 13
2A.  ARTO = Sales/AR = 650/155 = 4.194
 or 

2B.  Average Collection Period = AR/(Daily Average Sales) = 155/(650/360 days) = 85.85 days

Note ARTO also = 360/ACP = 360/85.85 = 4.193
3.  Inventory TO = Sales/Inventory = 650/128 = 5.078
 Or CGS/Inventory = 485/128 = 3.789 (Preferred but norm may not be available)
4.  FATO = Sales/NFA = 650/286 = 2.273
5.  TATO = Sales/TA = 650/715 = 0.909
Leverage and Coverage Ratios

1.  Leverage Ratio = Total Debt/TA = 555/715 = 0.776
2a.  Time Int. Earned = EBIT/Int. Exp. = (10 + 28)/28 = 1.357
2b.  TIE on cash flow basis = EBITDA/ Int. Exp. = (10+28+12)/28 = 1.786
3a.  Fixed Charge Coverage (FCC)* 


= [EBIT + Lease Pmt])/[ Int. + Lease Pmt. + (Prin. Pmt/ (1-tax))]

= [10+28+58]/[28+58+ (55/(1-.35))] = 96/170.615 = 0.563
   
*Assume Wages and Salaries expense is lease expense instead

3b.  FCC on cash flow basis 
= (EBITDA + Lease Pmt.)/ (Int. & Lease Pmt + (Prin Pmt/(1-tax)))

= (10+28+58+12)/(28+58+(55/.65)) = 101/170.615 = 0.633
Profitability

1.  Gross Profit Margin (GPM) = (S - CGS)/S = (650-485)/650 = 25.38%

2a.  Net Operating Margin (NOM) = (EBIT or NOI)/Sales = (10+28)/650 = 5.85%

2b.  NOM on cash flow basis = EBITDA/Sales = (10+28+12)/650 = 7.69%

3a.  Net Profit Margin (NPM) = NIAT/Sales = 7/650 = 1.08%

3b.  NPM on cash flow basis  = (NIAT + Depr.and other amortized expenses)/Sales 

= (7+12)/650 = 2.92% 

4.  Return on Assets (ROA) = NIAT/TA = 7/715 = 0.98%

ROA = [NPM X TATO] = [(NIAT/S) X (S/TA)] = 1.08% x 0.909 = 0.98%

5.  Return on Equity (ROE) = NIAT/Common Equity = 7/160 = 4.38 %

ROE = [ROA X (Equity Multiplier or (TA/E))] = [0.98% X (715/160)] = 4.38%

___________________________________________________________________________

Problem 17-4, p.582 

This problem has some incorrect information.  The sum in the later liabilities and equity column equals 5,834, not 5,628. Focus on the changes in the balance sheet items.   
Source = (A or (L and Use = (A or (L

Notes:  ΔRE = NIAT - (CS DIV and PS DIV);  ( Accum. Depr. (Depr. Exp.) = Source

Sources = AP (309) + NP (217) + LTD (59) + RE (110) = 695
Uses = Cash (92) + AR (192) + INV (79) + NFA (200) + Oth. Assets (21) + Tax Pay. (111) = 695
Know how to identify any of the above items as a Source or Use.
